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port java.util.Scanner;
class web{
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int a;
a = sc.nextInt();

if (a% 2==0){
System.out.println(" =1 50");
}

if (@a% 2 !=0){
System.out.printin(" /= 7750");

}
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import java.util.Scanner;

class web{ . . . . /\KKZEﬁ%%QEjE =
public static void main(String[] args) { =g - FILER

Scanner sc = new Scanner(System.in); hc else.. BB
nta; FrEEERmE f 7 -

a = sc.nextInt();

if (@% 2==0){

System.out.printin(
} else {
System.out.printin(

TR

\}} |




I i
N ‘/‘/'




W2l . RERBIEREAE —

import java.util.Scanner;
class web{
public static void main(String|[] args) {
Scanner sc = new Scanner(System.in);
int a;
a = sc.nextInt();

if (@ % 2==0){

System.out.println(" /{1 2");

else {
System.out.printin(" /=77 57");

}
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import java.util.Scanner;
class web{
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);” & BJNINE R
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int num, hundred; = 3NEE - 2
FEBEAUEEAE 3 WER gé\a%g%ﬂbEE
num = sc.nextint(); B HER IR ?

hundred = num / 100;

EEEE if (hundred % 3 == 0) {
BE 3R } ?yst{em.out.printf("E{j%ﬁz%dﬁ‘iBFl@{%%ﬁz\n”, hundred);
else
System.out.printf(" {7 2 %d 230 E 5 \n", hundred);
}
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import java.util.Scanner;
class web BRENEL: FAZERE
public static void main(String[] args) { B A JFERE) ?
Scanner sc = new Scanner(System.in);
int num, hundred;
num = sc.nextint();
IT (hum <0) {
System.out.printf( , hum);
}
if (num < 100) {

System.out.printf( , hum); | HEFESE D - EAZIMAWE
} py-—1 ; ~ .
hundred = num / 100; BEHEEABRMUR?
if (hundred % 3 == 0) {

System.out.printf( , hundred);

} else {
System.out.printf(

, hundred);
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Import java.util.Scanner;
class web{
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int num, hundred;
num = sc.nextint();
if (num <0) {
System.out.printf( , hum);

EIBRIEE 3 - IEREEE |
HENBMNEE ? if (num < 100) {

System.out.printf( , num); FRIEREIEE 4 ; W HIET B NI 2
} HEZEAE 3 EH?

; hundred = num / 100;

if (hundred % 3 ==0) {
System.out.printf( , hundred);
} else {
System.out.printf( , hundred);
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priport java.util.Scanner;
class web{
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);

int num, hundred; = R4 H B 45 R A M55
.= scnestin) #AFS - POl kTR R
f (num - EmENIf HERE

System.out.printf("%d -~ 2 [ 225\n", num);

Sed 1
= if (num < 100) {
‘ System.out.printf("%d, < £ [ {i7%\n", num);
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Eal=C if (hundred % 3 == 0) {
System.out.printf(" 5 (17 50 %d 23055 \n", hundred);

} else {
System.out.printf(" 5 {17 50 %d 1 23095 \n", hundred);

} >
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if (num % 2 ==0) {
System.out.println(" /= {H57");

} else {
System.out.printIn(" /=77 57");

}
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System.out.println( ( num%2 ==0) ? "=(E " "2 E1");

Hiert ? a_result © b_result
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- RENFTER - SEINES2a_result
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